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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours/Programme 4th Semester Examination, 2020 

ECOHGEC04T/ECOGCOR04T-ECONOMICS (GE4/DSC4) 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

1. Answer any six questions from the following:
িনmিলিখত �য-�কােনা ছয়িট  pেűর উtর দাওঃ 

2×6 = 12

(a) What is GNP? 
sূল জাতীয় উৎপাদন কােক বেল ? 

(b) What is subsistence agriculture? 
ভরণ-�পাষণ িভিtক kিষ কােক বেল ? 

(c) What is poverty line? 
দািরdেরখা কােক বেল ? 

(d) What is NABARD? 
নাবাড� কী ? 

(e) Name two major export items of India.
ভারেতর dিট pধান রpািন পেণ°র নাম �লেখা। 

(f) Mention two direct taxes. 
dিট pত°k কেরর উেlখ কেরা। 

(g) Define marginal farmer in India. 
ভারেত pািnক চািষর সংjা দাও। 

(h) What is meant by land reform? 
ɛিম সংsার বলেত কী �বােঝা ? 

(i) State two major difficulties in measuring national income in India.
ভারেত জাতীয় আয় পিরমােপর dিট pধান অসুিবধা উেlখ কেরা। 

(j) Write two main sources of finance of large scale industries in India.
ভারেত বৃহৎ িশেlর অথ�-সংsােনর dিট pধান উৎস উেlখ কেরা। 

(k) State two characteristics of Indian economy.
ভারতীয় অথ�নীিতর dিট �বিশŶ° উেlখ কেরা। 

(l) What is disguised unemployment?
ছdেবশী �বকারt কী ? 
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2. Answer any two questions from the following:

িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ  
4×2 = 8

(a) Mention different economic reforms adopted by Government of India to reduce 
poverty. 
দািরd দূরীকরেণ ভারত সরকার dারা গৃহীত অথ�ৈনিতক সংsারgিল উেlখ কেরা। 

(b) Discuss briefly the impact of WTO on Indian agriculture.
ভারেতর kিষেত িবƬ বািণজ° সংsার pভাব সংেkেপ আেলাচনা কেরা। 

(c) Mention a few points on volume and direction of India’s recent foreign trade. 
ভারেতর সাmpিতক �বেদিশক বািণেজ°র পিরমাণ ও অিভমুেখর কেয়কিট িদক উেlখ কেরা। 

(d) Mention the causes of low productivity of Indian agriculture.
ভারতীয় kিষেত sl উৎপাদনশীলতার কারণgিল উেlখ কেরা। 

  
3. Answer any three questions from the following:

িনmিলিখত �য-�কােনা িতনিট  pেűর উtর দাওঃ 

10×3 = 30

(a) What are the causes of income inequality in India? Discuss the measures 
undertaken to reduce income inequality in India. 
ভারেত আয় �বষেম°র কারণgিল কী কী ? ভারেত আয় �বষম° কমােত কী কী ব°বsা �নওয়া হেয়েছ 
আেলাচনা কেরা। 

4+6

(b) Discuss the features of change in the structure of Indian economy during plan 
period. 
পিরকlনাকােল ভারেত আিথ�ক কাঠােমার পিরবত�েনর �বিশŶ°gিল আেলাচনা কেরা। 

10

(c) Mention various features of population problem in India. Discuss various policies 
taken by the Government of India to control population growth. 
ভারেত জনসংখ°া সংkাn সমস°ার িবিভn �বিশŶ° উেlখ কেরা। ভারত সরকার জনসংখ°া বৃিd িনয়ntেণ 
�য সব নীিত gহণ কেরেছন তা আেলাচনা কেরা। 
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(d) Explain the features of green revolution in Indian agriculture.
ভারেতর kিষেkেt সবুজ িবpেবর �বিশŶ°gিল আেলাচনা কেরা। 

10

(e) Discuss the monetary policy of RBI in recent years.
সাmpিতক বছরgেলােত ভারেতর িরজাভ� ব°ােìর আিথ�ক নীিত পয�ােলাচনা কেরা। 

10

(f) Define Cottage and Small Scale Industries in India. Discuss its role for the growth 
process of India. 
kd ও kটীর িশেlর সংjা দাও। ভারতীয় অথ�নীিতেত এেদর ɛিমকা আেলাচনা কেরা। 

2+8

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script. 
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